8 7 6 5 4 3 2 1
[> NoTES A. JAMB BRACKETS (TYP WOOD JAMBS) STYLE TRACK—— B. FOR ANGLES ATTACHED TO INTEGRAL FIN ONLY—— 10. FOR COMMERCIAL HARDWARE DETAILS SEE DRAWING 408717. — Dﬁ's'ONS —
1. DESIGNED AND TESTED IN ACCORDANCE WITH WIND LOAD 5/16" x 1 3/4” LAG BOLT, OR EQUIVALENT. 1 — 5/16” BOLT EACH END AND WITH A MAX e (T e R BT P e
PROVISIONS OF THE FLORIDA BUILDING CODE AND 2018 B. ALTERNATE ANGLE MOUNT—SEE SHEET 2 SPACING OF 13.5". ON END OF ANGLE WHERE SPACING 35490 B TDRAWING UPDATES 1073/20] 16
INTERNATIONAL BUILDING CODE PER ANSI/DASMA 108 AND 6. FOR COMMERCIAL HARDWARE DETAILS SEE DRAWING 408717. > OREATER THAN 117, ADD BOLT EQUIDISTANT BETWEEN 52499 C TADDED "2018" To NOTE 1 1107237201 TC
ANSI/DASMA 115. PROFESSIONAL ENGINEER’S SEAL PROVIDED ONLY THE LAST TWO BOLTS.

7. GLAZING IS 1/4” POLYCARBONATE WITH A MAX GLAZING SIZE

FOR VERIFICATION OF WIND LOAD CONSTRUCTION DETAILS. ” »
OF 19 3/8” HEIGHT BY 49" WIDTH.

9. ANGLE LEG IS TURNED DOWN.

2. PRESSURES LISTED AS POSITIVE/NEGATIVE (DESIGN). GLAZING RETAINER TO BE ATTACHED TO SECTION WITH 10. 22 GAUGE X 16" LONG REINFORCING C—RAIL INSERTED
3. SECTION HEIGHTS MAY VARY TO CREATE VARIOUS 48 X 1" SCREWS WITH A MAX SPACING OF 6" IN THE ALUMINUM EXTRUSION AT THE BOTTOM OF EACH
DOOR HEIGHTS, 30-1/2" MAXIMUM SECTION HEIGHT. SECTION EXCEPT BOTTOM SECTION.
4. LIFT CLEARANCE OR FULL VERTICAL TRACK MAY ALSO BE USED. 8. STRUT OR ANGLE INSTALLATION: 11. 7/16” DIAMATER 1144 GRADE STEEL ROLLERS ARE
LOW HEADROOOM TRACK MAY BE USED WITH EITHER A. FOR STRUTS ONLY— USE 2 SCREWS AT BOTH END OF STANDARD. NYLON ROLLER FOR 2" TRACK IS OPTIONAL.
DRAWBAR OPERATOR OR LOCK. STRUT, 2 ON EACH CENTER HINGE LOCATION,
LOW HEAD ROOM USES A 7/16" DIAMETER ROLLER SHAFT. AND 2 BETWEEN EACH HINGE. CABLE DRUM TORSION SPRING GLAZE
5. FASTENING METHODS (TRACK TO WALL), COUNTERBALANCE \
SPACING BASED ON BRACKET SPACING (SEE CHART BELOW): RS o VR \
_ EADPLATE ?gARéiONTAL 4" STRUT TOP FIXTURE CENTER H|NGE—\ \
- : \ y
pu By, . C C \
vy’ D
HEADROOM P ANGLE ? / J / / / /
| i = 1 — il 7 PRI (| /
1 lo"R OR 15"R TRACK i |
} N SECTION B—B W Tl 71 Tl
HORIZONTAL TRACK / / / / /
14.00| MAX SPACING POLYCARBONATE PUSH NUT AT —H
(TPP ONLY) JOINT BRACKET EACH ROLLER / / / / /
L DOUBLE SIDED BUTYL TAPE LOCATION. 14"
I ALUMINUM RETAINER EE%WE\EB f-’l?NS:E %f |
VERTICAL SCREW "|IRAY Tl 71 Tl ]
CA
TRACK A / / / /s _HH
30'—1 / \
] MAX HEIGHT / / E p / /
i ——-——- 11 — >

i

[ % Tl : T T}
)
OPENING POLYCARBONATE RETAINER G / G' |_>E/ / /
HEIGHT BOX CENTER HINGE
(REF) JAMB BRACKET / / / y, / 1]
4 i - - - - ;
END HINGE—(|
/ / / / /
SEE CHART FOR Y
BRACKET SPACING END STILE / / / / |_>.D / |
‘e = F=w ; el
[~—A—| / 4" STRUT CENTER STILEJ |_>’ .st\\\\\\
2, 77 s
00 DETAIL F BOTTOM FIXTURE 182" MAX DOOR WIDTH——— =€ OF TE* A .
, SEE CHART FOR V P\ e A
BRACKET SPACING 2X ROLLER HOLDER REQUIRED INTERIOR DOOR ELEVATION F - &N
sTOP | £ Tk 'l
MOLDING | = STEEL ANGLE /";
¢ J.C.VOELKEL ¢
» JSAE(B:LQ(!)\II(EI'AM_O,S\NT 3” FOR BRACKET SPACING OF 12" OR 24"J 9.......:........................’
12" FOR BRACKET SPACING OF 36" 8B Digitall . s
(TYP. WOOD JAMBS) ’ 0 JOhr‘ ' [ John éﬁ;&, 133174 & g
- ALUMINUM FIN SCHEDULE "A” (STILES) DOOR | JAMB LOAD Christian Yoelkel ! O/O.."</CEN 60.-"& d’
SIDE ELEVATION OF WALL ANGLE TRACK OPTION DOOR WIDTH NO. CTR. WiDTH | LB/FT (HEIGHT) Voelkel fawi2o2! ‘i S eemnnnettn (4
STILES 182" | +390/—436 415:12-06'00 ‘\\S/ON AL eﬂ.-
16'= 3" <= 18'-2" 3 N
SECTION & vz ST e e
8" 1 . Al AD, 1A
SCREW 4" 16ga STRUT y SCHEDULE "B (SECTIONSZIO _ S
THRU BOLT 5/16” X 1" DOOR HEIGHT :
END STILE CENTER STILE WITH NUT AND LOCK WASHER SECTIONS TX PE 133174
_\ /_ 3\ _\ 10 8'- 6" 4 DOOR END ANGLE/SECT STRUT AT ROLLER TRACK
4 ) (,Z‘?FD% 8- 7" 10 10— 1" 5 WIDTH | IMPACT | STILE TOP_AND TIRE[TIRE| STEM |eRrkT/Fsmhe [VERTICAL
/ﬁ 0= 2° 70 12= 1" 6 UP TO |RESISTANT| QTY |QTY|  TYPE BOTTOM | TYPE |pia |MTL| Dia. | sPi@lkc | GAGE |HARDWARE
= A% N WEATHERSEAL ; [ \\ \@ 12— 2 70 14— 1 7 182 YES  [DOUBLE] 1 [3 X 2 X 3/16[4” 16ga [TR=3 [2” [STL [ine e | 12 0.085" | HEAVY
> ) SECTION D-D 214 % ? (
/ ( { \\ \ THE DRAWINGS AND ALL OTHER INFORMATION CONTAINED HEREIN ARE THE CONFIDENTIAL AND PROPRIETARY PROPERTY OF OVERHEAD DOOR CORPORATION AND ITS AFFILIATED COMPANIES. THIS DRAWING
\ v t ANGLE e AND INFORMATION, IN WHOLE OR IN PART, MAY NOT BE COPIED IN ANY MANNER OR DISCLOSED TO ANYONE WITHOUT THE PRIOR WRITTEN CONSENT OF OVERHEAD DOOR CORPORATION. NO DISCLOSURE OF
STRUT | THCK |HEIGHT " ANY OF THIS DRAWING OR INFORMATION IS INTENDED TO OPERATE AS A LICENSE OR AUTHORIZATION TO USE IT FOR ANY PURPOSE WITHOUT THE SPECIFIC WRITTEN CONSENT OF OVERHEAD DOOR CORPORATION.
6ga STRUT 4" 16ga| 0.055| 4.00 ! = TR0 MGE FRORON  TroLermces uniess omerwise seecireo]  FINISH = A NawE oA DRAWING TITLE:
4" 16ga - - @ g WHOLE NUMBERS: + .25 : P/ T | oo WINDLOAD, 521, 9920
: . N/A TEXAS s .
X £ / —derpienge © _T_CLARK 10/2/20 | 43/ 45 PSF. 18'—2" MAX
MA] : d
SECTION C—C SECTION =G pmE Voo w0 nes, | iy % 070 | WEASURE D KORNISH | 10/2/20 [orume
ke puecoS el ANGLES: 5 N/A D B wer D—411487
REF_DWG USED ON | | HOLES: + EA L KRUPKE | 10/6/20 [ N/A  [se= 1o 2

8 | 7 6 | 5 4 | 3 2 1



chris
Texas


8 | 7 | 6 5 | 4 | 3 2 1
[> NOTES J REVISIONS
2 3/ | e
411 —‘ } J A
o] 3 | | | | o IMIN EDGE DIST [ 32400l C [ApoED "2018' To NotE 1 [10/23/20] TC
5 A T 9 T 9 \/1\/\ 5/16” LAG SCREW INTO 5 3 /47 4q
: .| EACH HOLE LOCATION — |
4 \ |
7 A4
\ o
\FASTENERS PER 3/8" SIMPSON TITEN ] trr 7
TABLE THIS SHEET HD, 2—3/4" MIN /AN _/ -
EMBED INTO MIN : ( CONTINUOUS WALL ANGLE i /
&\ gggOEFA’ELCSONEERETE 1/4—20x9/16” TRACK BOLT TRACK FASTENER
U TR BNE > | LOCATION i g AND 1/4-20 HEX NUTWB A SPACING MATCHES
SOUTHES o U_TRACK cLIP i CLIP SPACING
g@(\mﬁg 15" SEE CLIP
J—— WELD SLOT ON ANGLE wax AR ?ElTSAIL
13 GA MIN g D )_ﬁTRACK OR WELD ANGLE 17 i iy
. CONT”\IUOUSJ o \_. OR BOLT 5/16 MIN \'. 0 /:
WALL ANGLE —— ° I ., 12\ P
/ o \ MAX -t
' =i .
M '3\_ —
6" MAX. MIN 11 GA A\ o D 7(3) 1/4"-20 TRACK 12"
LI N / OR CARRIAGE BOLT WA
] " " WITH 1/4"=20 NUT R |
e E60XX MIN.
1 TYPICAL CLIP 1/8 o ~_
9 MAX WIDTH BOLTING DETAIL MAX TRACK
1. BASED ON 3/8” SIMPSON TITEN HEAVY DUTY SCREW ANCHOR WITH A 1" 0.D. WASHER INTO CONCRETE WITH A e MIN 11 GA CJ_LIPE_
MINIMUM EMBEDMENT DEPTH OF 2-3/4” AND A MINIMUM EDGE DISTANCE OF 2-3/4". RSW>— 557 A 1ls [ N
2. BASED ON 3/8” SIMPSON TITEN HEAVY DUTY SCREW ANCHOR WITH A 1” 0.D. WASHER INTO GROUT FILLED CMU WITH 5 o "\ oL e WELDE e
A MINIMUM EMBEDMENT DEPTH OF 2-3/4”, A MINIMUM EDGE DISTANCE OF 4”, AND A MINIMUM END DISTANCE OF 4”. | : \ DETALS THIS PAGE. VW
CONCRETE MASONRY UNITS SHALL CONFORM TO ASTM C90 AND GROUT SHALL CONFORM TO ASTM C476. X =Je OF T
3. BASED ON 3/8” DIAMETER x 3” LONG LAG SCREWS WITH 1” 0.D. WASHERS WITH A 1-9/32" THREAD PENETRATION -. ¥(1) 1/4"-20 TRACK FiPoernlaah
INTO SEASONED DRY WOOD SUPPORTING STRUCTURE. 13 GA MIN \ ! OR CARRIAGE BOLT £ L0
4. PROVIDE QUANTITY OF SCREW ANCHORS OR LAG SCREWS AS REQUIRED TO MAINTAIN MAXIMUM SPACING AS SHOWN IN CONTINUOUS_\/ 7 WITH 1/47-20 NUT F el
TABLE WITH A MINIMUM OF THREE (3) SCREW ANCHORS OR LAG SCREWS PER JAMB. SCREW ANCHORS OR LAG SCREWS  WALL ANGLE N| . RIS O R 4
AT TOP AND BOTTOM OF JAMB SHALL BE PLACED A MAXIMUM OF 6” FROM THE END OF THE JAMB. vy TRACK 4.3 C.VOELKEL 2
5. LOAD PER JAMB CALCULATED TO BE A MAXIMUM OF +390.6/-436.0 LBS PER FOOT. LIPICAL_CLIP (o5 133174  fed
6. CHART INCLUDES A SAFETY FACTOR OF 4. WELDING DETAIL W3 ¢ o ~&Z
7. DOOR JAMB TO BE MINIMUM 2x6 NO. 3 SOUTHERN PINE LUMBER (MIN) MOUNTED DIRECTLY TO SUPPORT W /CENSE S
STRUCTURE. W SIONA'\:'@‘?."
8. DESIGN OF THE SUPPORT STRUCTURE SHALL BE THE SOLE RESPONSIBILITY OF THE BUILDING DESIGNER e
AND SHALL BE DESIGNED FOR THE LOADS LISTED IN NOTE 5. SO0R N0 | ANGLE/SECT  Tormyr ar[ ROLLER TRACK
9. SCREW ANCHORS OR LAG SCREWS SHALL BE INSTALLED PER MANUFACTURER'S WRITTEN INSTRUCTIONS. wotH | impact | STILE TOP_ AND TIRE[TIRE| STEM [amcy/rsm [VERTICAL
UP TO [RESISTANT| QTY | QTY TYPE BOTTOM | TYPE IDIA. [MTL| DIA. | srAtiNe | GAGE |HARDWARE
MAX SPACING OF ANCHORS/SCREWS PER JAMB (IN) 18'2" | YES |DOUBLE[ 1 |3 X 2 X 3/16[4” 16ga [TR—3 | 2" |STL [z nes | 12" | 0.085" | HEAVY
3/8” SMPSON TITEN | 3/8” SIMPSON TITEN |0 v o | guc 5 CHRISTAN VORLKEL PE
HD SCREW ANCHOR TO |HD SCREW ANCHOR TO L/<G A 312 N. NEW WATRINGION R0RD. UNIT 14
MINIMUM 2000 PSI MINIMUM 2000 PSI L PE 82320
NOTE 1 NOTE 2
CONCRETE GROUT FILLED CMU THE DRAWINGS AND ALL OTHER INFORMATION CONTAINED HEREIN ARE THE CONFIDENTIAL AND PROPRIETARY PROPERTY OF OVERHEAD DOOR CORPORATION AND ITS AFFILIATED COMPANIES. THIS DRAWING
AND INFORMATION, IN WHOLE OR IN_PART, MAY NOT BE COPIED IN ANY MANNER OR DISCLOSED TO ANYONE WITHOUT THE PRIOR WRITTEN CONSENT OF OVERHEAD DOOR CORPORATION. NO DISCLOSURE OF
24 12 24 ANY OF THIS DRAWING OR INFORMATION IS INTENDED TO OPERATE AS A LICENSE OR AUTHORIZATION TO USE IT FOR ANY PURPOSE WITHOUT THE SPECIFIC WRMTEN CONSENT OF OVERHEAD DOOR CORPORATION.
THRD ANGLE PROECTKN | oy eRanCES UNLESS OTHERwISE sPeciFieD]  FIN|SH TV NAME DATE DRAWING TITLE:
@ g WHOLE NUMBERS: ~ .25 N/A o RK 10/2/20 | WINDLOAD, 521, 9920
e b L, WS | B [ 10/2/20 oo
SPECINED, DWENSONS ARE| ANGLE'S: =5 |, N/A AFPROVED BY: 10/6/20 wer D—411487
REF DWG USED ON | HOLES: + L KRUPKE se NJA | sem 2 oF 2
8 7 6 5 4 | 3 2 1



chris
Texas


	411368-rC SH1
	411368-rC SH2
	411487-rC SH1
	411487-rC SH2

		2020-11-10T14:15:12-0600
	John Christian Voelkel




